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A gentile and a>m>  — 770 RN MWANR M 29205 T3
who set aside 72y9n; their 7290 is a valid 77190

OVERVIEW

The X713 cites two N1awn where we find a dispute between the 2°n31 and w'"9
whether the 72170 of an 2"12¥ is a valid 72170, Both °"w and nvon offer
differing views

— D919 YONY 200D N WD
>'"w49 explained that the meaning of 77170 11170 is that this 72170 which the

"M>1 0">dY were w97 is forbidden to strangers (non-2°1712) to eat, etc. -
—>y2an5 HNIYS YIND D291 TAIWY 1937 PN 3071

For the Xin of this 71w»n maintains that an 2"y does not have the power

of acquisition in >''R to remove its 7177 concerning MWy MAN, ete.
— *n19Y990 1 9019 X B399 121N ‘N1

And this Xin also maintains that m9%2 which is done by an 2"V does not

exempt the produce from 712190, The explanation why 2"y M "2 is not 1 is -
— 052919 F23Y PIOT SOIWNY 33T 391 TNT TN NPV 9995 (x,10 41 MNINY

as the X3 in nym» derives this rule from the words 9137 ,7337 (your
grain) which is written twice. The word 7137 (your grain) excludes a case

where the 1947 (which is the equivalent of M) was done by an a'"1oy;
however this exclusion was written twice -
— 73499 NYN DI NN VIYN PN

And an exclusion which follows an exclusion does not exclude but rather
it includes. The two 7137 include therefore that 2™y M1 is not V.

" The o°m> were a people who were 301 under questionable circumstances. Eventually the 2o were M3
that they should be considered as 0"10¥ for all issues.

230 o'

? Despite the fact that the 2™2y owns it, nevertheless all the laws of *"x apply to this land; including the
obligation of separating MAwy©™ NN, etc.

* m" means smoothing out (the heaping pile of grain). After the grain has been harvested, threshed,
winnowed, etc. it is piled up into what is called a *73. Then the >3 is smoothed into a manageable pile (this
process is called M7 ). It is at this point when there is the obligation to be »"17n w*19n. Prior to this M
(which is considered the 79871 13) one may eat from the grain or feed it to his cattle on a temporary basis
(even before n"1n nwIsn).

> Even though the 2™y made the ma" (which is the time when the obligation of 2" mwas7 begins),
nevertheless the 7w15i7 211 remains regardless.

® The word 7237 is actually mentioned three times; in 1°,2> (7X1) 0°727 it states 7137 WA TIYW 75R? 201N R
"3, in 2,77 it states JI37 IWYH "N N9IRY, and in 7,70 22U it states 137 WX, One 7137 comes to exclude 17
(or m°n) wpn, the other two exclude 0"y 11a7.

7 See 1"w X,3 RAY.
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mooIn continues with °"w°0; the X3 cites another 71wn which states that "2y hnin is
nynT and *"wA explains that -
— 5wa nYINRA WIN N9y 122909 NNIDIN PYINA 1Y) ON NYNTN

nynT» means that if this 2"2y nin fell into 1997 and became mixed up in
it, the 1211 becomes Mo for o7 (if there was not one hundred times more
17211 than “577n). And in addition the 7w states one is liable to pay a fifth
for it, and >"w" explains that this refers to one who ate this 2"y nm1n
inadvertently, he must pay the original plus a fifth (a fourth) to a 1712.

The &1 continues that in the abovementioned cases —
— 12952 27N 022310 T2IYN NN PN 920PT 9019 PYNY 2N

w'" exempts him from paying, and "w7 explains the reason of w"3 is
because he maintains that there is no obligation to be mYn w197 if the

a'"1oy did the m» -
— 952599 72IY N7 KDY T 99"

And v"1 derives the Mo of 0"2va M from the abovementioned 9ia7,

and not 2'"12 A7 -
—19WY IS 1Y 1999198N 10 T8 VIV NN VIYN NI 7I1979)

And according to " there is no VW » X VYR, for he necessitates the
repetition of 7137; this concludes the explanation of >"v-.

mooIn disagrees with >"w7'0 and asks the following question:
— Mo2915 12999 1939 WA 319Y9T ¥IWNRT IVINAY AU

And there is a difficulty with his explanation, which implies that the

o°non and " argue whether ¥°p57% 2'"19¥% 173p @, and this is difficult -
— NN N2 91T (1 posn) NIV P92

For in m>mw pp there is a dispute between 287K concerning this issue'” -

¥ The same rules that apply to 2w na1n apply to 2™y AN,

® When (dry) nnn gets mixed in with (dry) 120, there needs to be one hundred measures of 1117 for each
measure of 7n17N, in order that this mixture should be 20y to o°71. This is based on the 109 in (177p) 127M2
5 ,m° concerning Wwy» NN (which is a hundredth of the original 22v), which states 1117 1251 nX indicating
that the 2wy»n N is not 02 in the 1211 which is only ninety nine times the 2wy» .

' We rule that man% XX 01°» AKX LIW» PR only when one vy is extra; however if each vy is necessary
this rule does not apply. See 197 7"72 (2"17) *"w1 "pan"mi.

" The x"wnm comments that from *"w1 it seems that w"3 and the 1327 are arguing only concerning ma"
0"y, however they both agree that 21 2™5v% 13p PR. The X"wann explains that it is indeed possible to
assume that w"1 agrees with the 1127 that 2"5¥% PIp 1°K; however that would pose a different problem. There
is an opinion of an X K in MW P79 (which mooIn shortly cites) who maintains 2™5v% PIp w°, and if both
" and the 1337 agree that 2"oY% PIp PX then this X7mK will have no Xin to support him. Therefore it is
better to assume that ¥"7 maintains also that 7Ip w°. However madin question remains why would 287K
argue whether 11p > when the o°Xin already argued over it. See however the 1" in footnote # 10.
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— INNINT NNNDOI ININ 29T 91999 X920 PN
And it is not logical to assume that 2°8in are arguing the same issue
which the 2°8"1R argue!

mooin offers his explanation:
— P93P Y IPPANT 920 NP NINT PHYY 13929 ¥99 75Y

Therefore the "9 explained that the ?''n maintains that even if we assume

that 121 ¥°p9% 0"10YH 71 ®9, nevertheless -
— Ponaws 9192 WY A5V 115 A19Y9NA 290 INNIAINY OV HNIYN

It is quite possible that the gentile’s produce is obligated in 19n, if for

instance that the first third of its growth was under Jewish ownership and

then the 9% sold the growing crop to an 2™>Y -
— DNV ININY 299197 9190 W 90IDT D210 T2IYN NN DIV ON)

And if you want to exempt it from 72170 since it was a 2'"9» m9%% which
does exempt from 72170, we can say that we are discussing a case where a

5N 2" made the ma -
— ¥YpY XY 7Y% DIVN N

And if you want to exempt it from ;772170 on account of the 7°7 of K»Y =7

mpY? (your plantings are n"17n2 2°1 but not bought produce which is exempt
from n'"17n),
— PHNaYs BN T NN M DD DNPIY 399917 15 s

We can say that we are discussing a case where the produce was bought

before m= » and afterwards the X" did the 7> ; therefore there is no
0D of MpPH XYY T -
— 051229 Y99 19 N1 9NN NN 19N NIPDT XYIVDY

Since the exemption of mpY X1 applies only if it was bought after mmammn.
This is the explanation of the n''9 concerning the exemption of mp».

12 999 maintains @y > Y2977 °"R2 0"V 1717 1°R while T1¥9R °21 maintains 12 ¥°poaL 101 PIp wo.

"> When a plant grows a third of its full growth it is considered nx1an, and since it grew this third 51w 72
it is considered T7137.

' The xn™1 in 2,15 n"a derives from the 109 in 23,7 (71X1) 2°727 which states Tv77 NRIAN 95 NR Wyn Wy
that one is not required to tithe bought produce; only 7¥71, produce which grew on his land.

'> A cursory reading of Mmoo would indicate that it was the "9y who bought the produce ma"» o7 and
the x> did the m thus avoiding the M wd of o™3yn M. See however MoyTn w"n MinaT that if the
produce belongs to the 0"y then even if P8 Ww> 7 it is Mwo from »™N unless the PXw° bought it from
the »191 and 1171 afterwards. Therefore the X"vn interprets 'anp?w' that the X7 bought it from the 2"3y,
did the m°», and then sold it back to the "1y, where it is 721702 27 and there is no 79 of MP? since the
0"y owned the produce originally before the m7°n. The difficulty in this interpretation is inherent. See
n"m1 who explains that this N19010 maintains a differing view that the 7191 2117 of 2"y MM and MM
S8 does not depend on who owns the crops, but rather on who does the actual m »n. Therefore even if
the 0"y owns the crop, if X on 7 it is 21N 270.
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mooIn asks on the n" wr7e:
— NIYL IR PYNY 229 9019 20DT N1IIT )2 ORT AV

And there is a difficulty with this interpretation; for if the p"n obligates this
produce for 72170 in this particular situation we must assume that w''9
exempts it from 7270 in the same situation, and the question is what is
the reason that v" exempts it from 72170 in the identical situation?!

madIn answers:
— PYNY 229 MR- (x,mnm9m [DINTA] 9INRTI NNYLT 91997 Y

And one can say that the reason of "1 is as the X7n) states in 2727 N2on;

‘w'9 states -
— 1PN roN XN 1929551 DIVN N9I9n 0N PN D299 1Y SUTD

There is no 7%°p» 21°17 concerning items which the 2'"1oy are wo7p», for we

derive this with the mw 77°12 of Rvm Xvm from 729N -
$NTPA NIPN N9 DINN RPN ©52919 2721y N9 INIYW? 933 *2505 H119na)

And by 270 it is written ®X"w 213, and not 2'"15y°, it is evident that the
109 clearly excludes o"boy from sanctifying 7217n.

SUMMARY

*"w1 maintains that the np1onn between the 1327 and w"1 is whether maon
2"™ov is wd (and whether 2"o¥% 1P w°). However mooin maintains that
this is a 2°X1K NP2 and therefore not likely that it is also a o°Xin NP,
According to Moo we are discussing a case where it grew a PXW° 792 WLWw
(avoiding the issue of 13 w°) and the 0">dy purchased it before M7
(avoiding the issue of MpH X 7¥71) and Y% ann (avoiding the issue of
0"dy M7°1). Nevertheless "1 1s 7019 since there is no 7YY by 2™"15y NN,

THINKING IT OVER

mooin asks that since 2Xw° W, etc., why then is ww w" from wnn.
Seemingly mooin could have established the np1onn between the 1327 and
¥"7 1n a case of 0"DY M1 and they are arguing whether 2"12¥ M2 1s VB

19
or not?!

18 If one derives benefit from w2 0"y *w7p he is not 21 to bring a 72°¥n 127p (or to pay a wnn).

17 Concerning 177°1 the 2109 in 0,7 X" reads a8VM ¥ 7Wwnn °> wo1 and concerning 17N the P1oD in Xp™
10,20 (1IMR) states RvI 1HY WY R,

'8 The 09 in v, (77P) 12702 reads ' *"12 W™ WK DWTPA M@0 93; indicating that only 7m7n of *"1a
has a TP . It is evident that according to w"1 an 0™>3Y cannot be 710 w>on. The issue of 79°wn is
incidental; it is mentioned only because we derive from 72170 the 1w of 72°¥n by ">V *wIp.

" See (1:102) X"wAn and (72°K1 7"M02 7"72) MW NI,
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